FRAR K PE K B R

B43m 7 T & MD

(TARZV—bF% M E)

HiE 7R 5 (b H X P g %) — &

2. & 1T 15
3. BEAR

4. X EFEE
[HEFE 288]

%3044 B 24
EFEHREHE

304 58608 (A)
TRHIOFEE EBEFEREMEE F1HEMBESESH
£125E [18F1 0% HEHEFE]

RE [ 3% B 35
5Ty FR3FELUE EE1. 600m (E@Y)
1%E4€ 500KAH HFETREEESL 1 4358

*A+HE

E % H-#h | R KT BRTEHT B =
E23>T—R |[#-7 | X% | Bk W | malisss
T—4¥—F [#-5 | x# | §t 8 | pm &%
5. AFFBHETER
[$EREES 1 688) % $R LI
E % - | R KT BRTEHT B =
AvFravn #Hea | BF | BB m | * %
AR b—L #-5 | &F | Fz == *
B4 T7U ML |H-10| BF | Er He x F
== -6 | BF | Erm #e x ®
A1—JILAYY #-10] BF | B B x F
gm0 -4 | BF | Bl E- * E
QA3Sa=F4« -8 | BF | M@ Ew * =
STIRLy bk #e7 | B#F | B 0B x F
SSONLTST— -6 | BF | Hr = x E
EQq4 v H—H |tr-5| 5F | Bk %5 x E
FLSNRAF LY | %5 | &F | Fe == x E
Fx)—Evh— |#-5| 5F | 21l gZ * %
YTSAANYE— |45 | 5F | #m B- x
PP PN -7 | BF | Eaiddl x ¥
DNy #-7 | BF | M EE * F
ERSYTLAF (%8| 5F | gm ¥ | * %




